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#1| Heather has a b el o
gains 3 pound unny that weighs 5 pounds and Heather h el
s per year. Jor gaei;saf a catdthat weighs 15 pounds
4 , pound per year.
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#2

You are testing two fertilizers on palm trees’.
Palm tree A is 8 cm tall growing at a rate of

6cm/day.

Fertilizer B
You are testing two fertilizers on palm trees.
Palm tree B is 20 cm tall growing at a rate of
4cm/day.
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Graph both equations on the following grid. Use

an interval of 1 on the x-axis and 4 on the y-axis.

1) Name the point of intersection:

2) What does the point of intersection mean to the situation?
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raph both equations on the following grid. Use an interval of 1 on the x-axis and 50 on the y-axis
1) Name the point of intersection:

2) What does the point of intersection mean to the situation?
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#4 Aclass ofwont on a field trip. They took 8 vehicles, some
ses and 1 number of vans they took if aach bus holds(@5 students)
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